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QUESTION 1

A company needs to use a custom value when making persistence decisions. Which F5 product provides this
functionality?

A. iControl
B. (Rules
C. |Apps
D. (Health

Correct Answer: B

QUESTION 2

HTTPs traffic is not working properly. What is the likely reason for the issue?

A. 0.00.00is an invalid address in netstat.

B. 0. 0. 0. 0.0 80 should be in an active stale
C. The server is not listening on TCP 443
D. The server is not listening on UDP 80

Correct Answer: C

QUESTION 3
In a routed configuration, what does LTM do with the packet before sending it to the pool member?
A. Change the source IP and the destination IP address

B. Leave it unchanged and forward it
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C. Change the source IP address
D. Change the destination IP address

Correct Answer: D

QUESTION 4

IP Enforcer blocks IP addresses that have repeatedly and regularly attacked the site.
A. True

B. False

Correct Answer: A

QUESTION 5

Exhibit. the Web application Server made a query to the Database to present dynamic content for a user who would be
the client?

A. The User

B. The Big-IP
C. The Database
D. The Web application server

Correct Answer: D
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